Cub Cadet Padts NI S@DEIN Mot (OsuiBtattar bsofahd B86-678-9623 or 606-561-4983
Full download: http://manual pl ace.com/downl oad/cub-cadet-parts-manual -for-model-i1050-tractor-2008-and-after/

11050 Tractor 2008 & After
Air Filter Intake Manifold

N
Mgl
1
11
\1
~. }}
U
NA
A
Z#2
~
L |
~7)
hy'd
Y 4
e r §
. H
r4 TN, e
S ) W
B et
IS b
AN A
ey &
P A
s «
. 9.0.0.9, B Na s A
POXX AN Sl
WAN TN e FRNA
AN NS ﬁ//AY\()}I‘
= R 2550
T )
TRl XU OXE
TR rard
NN 7
A o
Ny el
N e
R g
e AN
&
LAY &4
§ W
R —
BB o ™,
PSR o, [ S N N AV N
e N e | a5 V7 NN
S EIV N 1AV i1 14 Ao Y
L, 277 1 TN - e, T OAEY A\l b
TN P NS VAN N ] A% ¥ 11
N, payd T T By AN (3
rd i N 7 NS 180 \ |1
o i 1 yrayd S S hall ¥/ A V4 1
rd I 4 <~ r/awd NS 4g N i
4 e 7 { & U r 4 I
1N |l e 1\ Nk &
IS 350 RO it 4
i L 1 4
i p 4 1 o~
1 L Y
1 ~)
i ™~
i I
i
i
i
i
AN

s

L{

X

7/
/
/
Vi
7/
4
/
/
/
/
7/
s/
'
™~
N
.
~
N
-
4
Py ]
S~
-
71
L
L]

Thisisthe cut pages sample. DOWWWP@OW@FM{@ com

Page 1 of 47

~
7

e NN W e\

NN
PATEAN
Ry
A
AN/ VR &
W
AN\
22 A\
)
T
~ 7]
~_l
N e, T
ST R
7 =
7 S
if )i
) Vi
A V4
Nyor”



http://manualplace.com/product/cub-cadet-parts-manual-for-model-i1050-tractor-2008-and-after/

For Discount Cub Cadet Parts Call 606-678-9623 or 606-561-4983

11050 Tractor 2008 & After
Air Filter Intake Manifold

Page 2 of 47

Ref#  Part Number Qty S/P/F  Description
1 KH-24-164-51-S 1 S Manifold, Intake
2 KH-24-041-52-S 1 /P Gasket, Carburetor
3  KH-24-153-27-S 1 /P O-Ring, Intake Port
4 KH-32-094-04-S 1 /P Base, Air Cleaner w/Gasket, Latch
5 KH-24-041-14 1 /P Gasket, Air Cleaner Base
6 KH-32-344-02-S 1 Latch, Air Cleaner Element
7 KH-32-083-03-S 1 S Element, Air Filter
8 KH-X-25-63 1 /P Washer, Flat, 1/4
9 KH-M-651040-S 1 Screw, Flange, M6 x 1.0 x 40
10 KH-32-083-05-S 1 S Pre-Cleaner, Element

WWW.mymowerparts.com



Page 3 of 47

For Discount Cub Cadet Parts Call 606-678-9623 or 606-561-4983

11050 Tractor 2008 & After
Blower Housing Baffles

o~

m—

|
R AR
‘ni/ﬂ/ NN . AN
a3 /N// ////N// /// Iy \\numu//
/// /, //N/ //rv N\ K /nﬁwuzv
R\ NN v U
- \\\/// //// // //”H// \\\\\\\ ku/ / \\ A@ //(\_N\/Nwmx/,ﬁﬁx/,wy
7NN N Ne— / LN
[N\ N \ <t / A SO
‘ ANN N y /a2
, \ \ \ \\ / /N/ // ////. n /, \\ \\\\\ AN /
\ | " / \Vf e ———— .\u _l
VAR N B AR NS > /G =
/ G | K D\ T [ S @)
/ A \ \ ~ N e TN T A RN
/ , W N // N /7 J-— Vvv C
/ / \ / \ ///7 I i o // Am/@ |||||||| =" )
\ / / mmuﬂk \ \ /”/ | ) . ~ za S
/ W T @ ] N\ C @ b g
\\ Wu\_nuﬂili/; // /// rll.ypﬂﬂ./ \\ /A“MW Ww / \v./l //N/ // | = / \ N // ) ,/
AN Y/ N e o .8
/ s - m ' { Ll
74 \ ONTAVANN N 61T
/ / // w© AL rm / / / // //./ / u
\\ W /= N\~ ) \ w‘i
\ /) / N / / \é =
/ /m \\ R..n\ ‘“m|f|ifuuuuun.|u||\ \\ m.v o O
N P A
/ \'S \ N— \\ \“ / -
\ o7
NN 3
// N\ / V4 // =
/Vyr 7% NN\ / // -
I/I,Vl”.”/ /ﬂ /,V \ /4 Ammw\\ [
\ Y Z | o e
/ﬂkw,fy..l.. HﬂMHﬁUHﬂlFﬂH.ﬂl“\\\\ mwwv v \\ L \
\ AR APV
\ / LA T
, /! \
X \
A ©




Cub Cadet Padts NDAsEOE#Modd) (OsuiBtaétar baotah B86-678-9623 or 606-561-4983

Full download: http://manual pl ace.com/downl oad/cub-cadet-parts-manual -for-model-i1050-tractor-2008-and-after/

11050 Tractor 2008 & After
Blower Housing Baffles

Page 4 of 47

Ref#  Part Number Qty S/P/F  Description
1 KH-32-027-03-S 1 Kit, Blower Hsng (Incl. Ref.2 &
KH-41-037-10-S)
2  KH-32-096-08-S 1 Cover, Air Cleaner
3  KH-M-545016-S 1 /P Screw, FInge Thrd. Frmng M5 x 0.8x 16
4  KH-M-645016-S 1 /P Screw, FInge Thrd. Frmng M6 x 1.0 x 16
5 KH-32-146-05-S 1 Plate, Backing
6 KH-32-063-05-S 1 Baffle, Cyl. Barrel - #2 Side
7  KH-M-545010 1 S  Screw, FInge Thrd. Frmng M5 x 0.8x 10
8 KH-32-063-02-S 1 Baffle, Valley #2 Side
9 KH-32-063-03-S 1 Baffle, Valley #1 Side
10 KH-32-063-06-S 1 Baffle, Cylinder Barrel - #1 Side
11 KH-24-086-12 1 Screw, Tap, M6 x 1.7 x 18
KH-41-037-10-S 1 Nameplate, Service Not lllustrated
KH-32-113-20-S 1 Decal, Cub Not lllustrated

Thisisthe cut pages sample. DOWWWFHOW@F ﬂ&'{@ com



http://manualplace.com/product/cub-cadet-parts-manual-for-model-i1050-tractor-2008-and-after/

